Y TORNEO T-170

HEPE‘-IEHb KOMIMJ1eKTYHOLWNX

Ne OonucaHue Cneuudukaums Kon-Bo, wt
1 Pama ocHoBHag 1
2 Pacnopka 1
3 Crovka nesas 1
4 Crovika npasas 1
5 duKcMpyoLas NAacTMHA 3N1eKTPoABUraTens npaBas 1
6 DUKCUPYIOLLAS NIACTMHA 371eKTPoBMraTens 1
7 [a308bIv yNop 1
8 Ponuk nepesHuin 1
9 Ponvik 3agHum 1
10 BONT WeCcTUrpaHHbIn M8x45 1
1l Camopes 21
12 Camopes ST3.9x14 16
13 BuHT M4x10 1
14 BOAT C BHYTPEHHWM LIECTUrPAHHUKOM M8x55 3
15 BONT C BHYTPEHHWM LIECTUTPAHHNKOM M8x16 2
16 BOAT C BHYTPEHHWM LIECTUrPAHHUKOM M8x42 2
17 BOAT LWecTUrpaHHbIv M10x70L 2
18 BUHT M6x25 4
19 BUHT M6x35 2
20 BUHT M6x30 6
21 Lllanba D6.5xD13 6
22 Lllanba D8.5xD17 13
23 Lllanba D10.5xD20 2
24 LLlan6a rpoBepHas D8.2xD11 4
25 arka caMOKOHTpALLasCs M6 6
26 rarnKa camoKoHTpALLIAsACs M8 [
27 KpbllWKa MOTOPHOrO OTCeka 1
28 KpbILWKa MOTOPHOrO OTCEKa HUXKHAS 1
29 Koxyx 6OKOBOW N1eBbI 1
30 Koxxyx 60KOBOW MpaBblin 1
31 KoXyX 3a/iHVN N1eBbIN 1
32 KoXXyX 3aiHW NpaBbii 1
33 Moayuika gexku 6
34 [Jemndep 3nekTpoasurarens 2
35 Onopa pambl OCHOBHOW 2
36 3arnyuwika 2
37 bBerosoe nonoTHO 1
38 PemeHb Np1BOAHOM EPJ390/)6-SC34 1
39 Jexa 1
40 Mpoknagka 4
41 Mpoknagka 1
42 3ar/yLKa Macn03aMBHOrO OTBEPCTUS 1
43 Tpy6ka MacnosanuneHas 1
44 Crskka Kkabens 1
45 Bbikao4aresb 1
46 MpeaoxpaHuTesnb 2
47 JnekTpoaBuraTesib 1
48 KoHTponnep 220VAC 1
49 Kabenb cMrHanbHbIN 1
50 Kabenb CMrHaAbHbIV CUHKI 200L 1
51 Kabenb CMrHaNbHbIN CUHWN 80L 1
52 Kabenb CUrHanbHbI KOPUHHEBBIV 200L 1
53 Kabenb CMrHaNbHbIN KOPUYHEBBIN 80L 1
54 Kabenb 3a3emnsoLmmn 100L 1
55 Pama onopHasg 1
56 BOAT LWecTUrpaHHbIv M8x30 1
57 BONT WeCTUrpaHHbIn M8x40 2
58 Lllanba nsorHytas D8xD16 6
59 PONMK TPAHCMOPTUPOBOYHbIN D50.8 2
60 Onopa D5xD27x16 4
61 Mopy4eHb 1
62 BONT LWeCTUrpaHHbIv M8x20 2
63 Camopes ST2.9x8 10
64 Camopes ST2.9x8 4
65 Camopes ST3.9x10 2
66 Camopes ST2x6 8
67 Camopes ST3.9x14 6
68 BONT WeCTUrpaHHbIn M6x10 2
69 Camopes ST3.2x10 2
70 Camopes ST3.9x30 4
71 KOXYX NOPY4YHS NeBbIv 1
72 Kodkyx MOpyYHs Npasbiit 1
73 KpblLlKa TPEHMPOBOYHOIO KOMMbOTEPA 1
74 KpblLWKa TPEHMPOBOYHOIO KOMMbIOTEPA HUKHAS 1
75 Onopa naaHweTtogepxarens 1
76 OcHOoBaHVe TPEHNPOBOYHOIO KOMMbloTEpa 1
77 3arnyuwika 2
78 PukcaTop AaTymKa Nyabca 4
79 Knunca nnaHweTtoaepxxarens 1
80 MnacTtrHa KAUMChbl NiaHLweToaepxaTens 60x15xT3.0 1
81 MokpbITe NiaHweToaepxaTens 1
82 OnsieTka nopy4Hs D30xT3.0x205 2
83 OcHoBaHMe AaTymnka nysibca ieBoe 1
84 OcHoBaHve gar4vka nyabca npasoe 1
85 KHoMKa ynpasieHus 4
86 Jatyvk nyabca 4
87 KHOMKa ynpasieHuns 2
88 Kabenb ceHcopa 2
89 He3a0 katoya be3onacHocTH 1
90 MaHenb BepxHas 1
91 Kabenb ceHcopa BepXHUW 1
92 Haknagka TpeHMPOBOYHOro KOMMbioTepa 1
93 CTvKep rHessa knoya 6e3onacHocTu 1
94 Craxka 2
95 BOAT C BHYTPEHHWM LIECTUrPAHHUKOM M8x16 4
96 BOANT C BHYTPEHHWM LIECTUTPAHHNKOM M8x42 2
97 Kntoy 6e3onacHocTn 1
98 Kabenb nuTaHus 2000 mm 1




T-170

MoaeTasnibHaa cxema TpEHaXKepa




